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TNReady Mixed Skills Review

1) Explain, in words, the differences in graphing the following equations:ly = 3x + 5
graph them all on the coordinate plane. ; fl=ere—

Thqi al| have o \Linhrc(p'f’ atb, :

From there the Girst echqun would 90 up 3, rygit i
The Se.comd ewa‘h‘an woulel 90 up 1y right-3. e
The Hrd elvm‘ﬁm Wwdb’ o i dow1 1, right 3. “085“

k 3

|||||

2) Harold baked some cookies, then brought them to a potluck. The cookies were eaten at a constant rate. After 10
minutes, there were 40 cookies left. After 14 minutes, there were 24 cookies left.

a) How many cookies were eaten per minute?  Mg-=16 cuoiis 16 =Y :@ Cookies PQM

M-10 =¥y nutes

b) How many cookies were there on the tray originally?

10 mmutes « 4 aohies per min=t0cek)ps  HO+40 = G0 cookies ovigsyll

c) Use your answers for a & b to write an equation in slope-intercept form. Identify what x and y represent in your
equation. » Lt g § :
Y—- —Tx+30 (mﬂq\{w Slofe b/c ‘Hﬂe #O'G cool IS \S deff?aflzg

3) Is this a function? Explain why or why not. (5, 10); (6, 13); (7, 13); (8, 15)
Yes; each "X (inpvrﬂ lﬂu#' only ovie "\/" (output )
(There does ot neesl o be a prern e y- w{w>

4) When is a decimal rational, and when is it irrational? Explain in words. Give examples.
Any Ferminafing decimal is rotional 30.25, .1, 10758623
Any mpemﬁnj decimmal is rortioval @ Q.4 s 2985, 3.4747147...
Nowt-Yepesting , ron- Tormivefing decintls are yvortonal: 194266578, , 2 1415725..

5) When is a square or cube root rational, and when is it irrational? Explain in words. Give examples.

Square o aube roots are vatona| wien -Hq@y Come outesexact mswersz\{g?‘ m) e
'mey we irrional when ey aewexactansuers (decimqlsvl\[ro: e, o

6) Solve the equation: —5(2x —3)+12x =—4x+9
15 [+129) = ~4xrq
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Solve each system of equations:
=2x+1

S +y=15 ; T
7) (Substitution) {2 - 3;)/: _134 8) (Eliminatign ){@x 33;’ = 33 R {)’ = —‘%x I:h \ ({3‘11’2
~

R("Y' l)"BY:'Z‘f 58 Yy e 10%
» AP M4IE IS
9 2x+3 45 r 518
i e 5 Hes |
2.6 ' ¥2 X 2

©® @ By L % ®
2P G 4 x4

HOD =15

—._\C/_Lﬁ-.

i l (-2 »3)|
10) 67 <is NOT equal to 36 Nor |sequal to +36. Explain how negative exponents work and say what 672 is actually
equal to. G—'Z é__h Negdhv? Q)(Pw“en‘b ae hke thlwg 6 1S ld,\/d d b 6 twotines.

TF 27=8. 2705 5. buget Lowr whedewr it wodd be&%e
exponent were pasitive,

11) Expand, then simplify: (2b*c)3

AT (B2 )b =

cc-c=c?
12) a) Identify two vertical angles. £\ +£3 ALY L5¢L7 L6rcg
b) Identify two alternate interior angles. Z4 +4 § L3+LC
c) Identify two alternate exterior angl;?l.l + L8 LA¥L7
d) Identify two same-side interior angles. 24 +46 LI¥ls
e) Identify two corresponding angles. 7[ + LG L2vL 5 VA T¥Ag BENN A 1

f) If the two lines are parallel, and mz4 = 58°, find the measure of ALL
other angles. mi1=122°  mL2:gg0
mL3 "\‘*2 mL5 =5y

L6172 d
Mg wil=53

13) Start with F(2, 5)

14) Find the missing side on both triangles.
1(4,9) V(6, 5) E (4, 6) 19
e Translate 1 unit 19
down and 3 units
right.
e Reflect across the y-
axis : 2 ..%-197 19
= 3 K +12=19
e Rotate 90° a - 2
K HHY 26| %
counterclockwise.c\ -4 MY .\2 =%
e Label your final X: =417 M14361 =4
coordinates. m 5o5=¢
%=Vms |
AT xTas|
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